2010/2011 INEBE BF1000m

2012.10.281&1F

JIE 4L A4 L K 4 T B # H % P XK= 4

1 1:2833 Fith EZ [ 2012.1.14 E5 Boa=-7dEE
2 1:3473 {Fik = NEE= 2012114  ¥5% B4 —7EgE
3 1:34.97 Rk WIE TokéR 2012218  BHiR REARD1ZT7HE
4 1:3498 fER F3h e 2012114  ¥5% B, —7hEgE
5 1:3551 /h\ith TRt o) 2012114 EH B =7 (E
6 1:36.11  fER Z@ b4k 2012122 ITLHz—7 BIa=-7HEIE
7 1:36.94 #FH HE [FaRs ] 2012122 ITLYz—7 BIaz—7HEIE
=8 1:37.46 TRIR ik 2012218 B3R REARS1ZT7HE
=8 1:37.46 #k 2% NEE= 2012.2.18  #BHiR REARD1Z7HE
10 1:37.65 MHF B—BEF JIEFE= 2012122 ITLoxz—7 BIOaZF7HRIE
11 1:37.80 #HLR #EAREF NI ESE— 2012122 ILHz—7J B az—7HEIE
12 1:39.35 #IFE EE LB 2012114 EH B4 = 7hEgE
13 1:39.39 B &H* NEZE— 2012122 TLHr—7J BIoa=7HEIE
14 1:4086 TH KE iR 2012212 E5H 95T 5t

15 1:40.87 K | FIRE 2012218  BHIR HAARDA=THE
16 1:4120 L SEK it 2012218  8HR HAA 1= T7HE
17 1:4191 B K& NLEZE— 2012.2.11 E+EH =25 N

18 1:4324 FRJE KA R 2012122 TLHz—7J BIOa=7HEIE
19 1:4359 [E (G4 NEtsgE= 2012.2.11 E+EH WS

20 1:4365 FHk Fih &R 2012122 ITLALxz—7 BIaZ7HEIE
21 1:4406 ok #E M 2012212 EE 25T %t

22 1:4413 A BEL Eih 2012212 FEE 25T %t

23 1:4424 HO 3E NEFE= 2012.1.14 X% Bo1=7hFE(E
24 1:4431 BT (@1F pi:J: 2012212 ¥% 9257w

25 14468 =1E ER EER 2012218 B3R REARS1ZT7HE
26 1:4555 thH F0E #FrE 2012122 ITLHz—7 BIa=-7HEiE
27 1:46.78 g BRE NEE— 2012218 ETFH ErEHXE

28 1:146.82 IR EE thH 2011.124 @& PFEUVZHYS

29 1:4713 K9 MRER BERE 2012.1.7 * 5 FHOL=7T

30 1:4823 &R EBA b4k 2012218 B3R RAAXRS1ZT7HE
31 1:4839 HiK EBHE 7k BA 2012.1.7 EA:5 FHOL=T

32 1:49.94 H)I| F\3 IERE 2012122 ITLoxz—7 BIOaZ7HRIE
33 1:5056 FEK BEF LAt 2012218  #BH#iR RABADC1Z7HE
34 15117 B H#FE EER 2012218  #BH#iR HBAD 1= 7HE
35 1:51.49 WK BHR EXMEER 2012122 ILAYz—7 BIai-7HEIE
36 1:5154 #H BN A48 2012.2.18  BHiR HAARDA=T7HE
37 15161 # @B AR 2012218  BEHIR HAARDA=T7HE
38 1:51.74 ik XF o) 2012.1.14 5 Boa-—7dEE
39 1:51.81 KR #t A9ER 2012212 FE 95T xtn

40 1:51.96 =ik EiF sk BA 2012212 ¥% 9257w

41 1:56.36 1Rk F#H NI 2012122 ITLYz—7 BIaz—7HEIE
42 1:56.43 B FFE 7k BA 2012122 ITLYz—7 BIaz-7HEIE
43 1:56.61 #iiZE E&AX e 2012122 ITLHz—7 BIa=-7HEI(E
44 2:0311  KJII #XK =911 2012212 ¥% 95Tt

45 2:0413 K Hig A48 2012212 EH 95Tt

46 2:04.38 & Rk e Hm 2012122 ITLHz—7 BIa=-7HEIE
47 2:06.87 #iE Fih A 2012.1.7 BHIR BHRKE

48 2:0743 HH E B HRTER 2012.2.18 B HR HAAD L= 7HE
49 2:09.30 KIE # B FHIRFEER 2012122 ITLHz—7 BIa=-7HEIE
50 2:0954 Ei HFH [R 2012122 I LH—7 BIaz=—7HEIE



2010/2011 INEBE BF1000m

2012.10.28181F

JIE 4L A4 L K 4 T B B % P XK= 4

51 2:1061 IR #R B FHIRIER 2012218  BHR HAACIZT7HE
52 21759 FAH EiE BFHIRPER 2012218  BHiR RAAXRS1Z7HE
53 2:2030 =H RRAE RE 2012212 EE 95T %t

54 2:2527 IMK BER RE 2012212 X% 95T %

55 2:26.02 Ik HE B HIRPER 2012.2.18 BHIR HAARSAZTHE
56 2:3482 1FMA FAKER BB 2012212 X% 95T Rt

57 2:4322 LR X B FHIRPER 2012218  BHiR REAARD1ZT7HE
58 2:56.35 KHi BE Himrh iR 2012212 @& LFEIRH X



	5m1000 (121028)

